PRAL K

e UD#14-17% (F513-16%)




[AJRR1 : EREHIE S

o PRIFfFIX LGFLAME R 10 2
o JE X (domain)
o [ (codomain)

{E 15k (range)

YT (injective/one-to-one)
W8T (surjective/onto)
XU (bijective)
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e Two functions f:A->B and g:A->B are equal
if and only 1f {(x)=g(x) for all
X € A=dom(f)=dom(g).
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Example 14.8. Let f: R\ {3} — R be defined by f(x) = (x+1)/(x—3). Determine
the range of f.
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The function f: R\ {0} — R defined by f(x) =1/x.
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e The function f: R\{1} = R\{1} defined by
f(x)=(x+1)/(x-1)

o
Py
A e (R
[




B3 : RREES

o VR HeEfa] ZE Uk B X L8 g g 2
e If f and g are one-to-one, then gef 1s one-to-one.
e If gof is one-to-one, then f one-to-one. ([fjgA 14 )
e If f and g are onto, then gef is onto.
o If gof is onto, then g is onto. (AR )
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e [f f and g are one-to-one, then gef 1s one-to-one.
o If gof is one-to-one, then f one-to-one. (MigA 4% )
e If f and g are onto, then gef 1s onto.
o If gof is onto, then g is onto. (I fA )

o FREEM H ARG T 28 H R EE 5 1] 11 ?
o fELIFF. gAY
o fHLIT. gdFELIT. gofHLU
o ST gl
o (RN gimidht s geflmi
o DXUGT gt




B4 ; Jim 23|
o T2 e R

%

o QHART SR I BREL 7

PRBEAR 318 1€ SOR AR LA T BRI S R 2 7
e The function f: R\{1} = R\{1} defined by
f(x)=(x+1)/(x-1)
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Let f: A — Bbe abijective function. The inverse of f is the function f~!': B — A

defined by

! (y) = xif and only if f(x) = y.
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e The function f: R\{1} = R\{1} defined by
f(x)=(x+1)/(x-1)
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e The function f: R\{1} = R\{1} defined by
f(x)=(x+1)/(x-1)
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Let f : A — B be a bijective function. Then

If ¢ : B— A is a function satisfying fog =igporgof =iy theng=f -1
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e The function f: R\{1} = R\{1} defined by
f(x)=(x+1)/(x-1)
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Let f : A — B be a bijective function. Then
Ifg: B— A is a function satisfying fog=igorgo f =iy, then g = f~ 1.
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Let f:A— Bandg:B — C be functions.
Suppose now that f :A — Band g: B — A. If fog=igpand go f = iy, then
g=f"
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Not a proof. It follows from Theorem 17.5 that f(A; MA2) C f(A1) N f(A2). To
show the reverse set inclusion, we let y € (A1) M f(Az). By definition of intersec-
tion. y € f(A1) and y € f(A2). Therefore, y = f(x) for some x in A; and y = f(x)
for some x € A>. Since x € Aj and x € Ay, we see that x € A; N A. Thus y = f(x)
where x € A MAj.s0y € f(A; MAy). This proves that f(A;) N f(A2) C f(A;NA3L).
and the nonfact 1s established! (7]
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f(~Ho) =c:

fHf(A)) =A:

f(A) = f(B) implies that A = B:
7€) = (D) implies that C = D.
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